KPSEA 2023 EXAMINER FINAL PREDICTION
INTEGRATED SCIENCE

Time: 1 hour 40 Minutes

READ THESE INSTRUCTIONS CAREFULLY.

1. You have been given this question booklet and a separate answer sheet. The question bookier
contains 50 questions.

Do any necessary rough work in this booklet.
When you have chosen your answer, mark it on the ANSWER SHET, not in the question paper.

HOW TO USE THE ANSWER SHEET.
Use an ordinary pencil only.
5. Make sure that you have written on the answer sheet.

YOUR INDEX NUMBER YOUR NAME NAME OF YOUR SCHOOL

6. By drawing a dark line inside the correct numbered boxes mark
your full index number (i.e. school code Number and the three -figure
candidate's Number) in the grid near the top of the answer sheet.

7. Do not make any marks outside the boxes. 8. Keep your answer
sheet as clean as possible and Do not fold it."

9. For each question 1-30 four answers are given. The answers are lettered A, B, C, D. In each case
Only One of the four answers is correct. Chose the correct answer.

10. On the answer sheet show the correct answer by drawing a dark line inside the box in which the
letter you have chosen is written.

I1. Your dark line Must be within the box. Make your line as dark as possible.
12. For each question Only One box is to be marked in each set of four boxes.

Candidates should check the question papers to ensure that all questions are printed.

SCIENCE AND TECHNOLOGY

1. Zawadi and Nuru were playing on a seesaw at home. Nuru tried to lift Zawadi as shown
below.
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From the illustration, it is true that;
A. Both Nuru and Zawadi act as the pivot.
B. Nuru acts as the load.
C. Nuru acts as the effort.
D. Zawadi acts as the fulcrum.
2. Which of the following is not a way of reducing air pollution in the environment? A.
Sprinkling water on earthen floors before sweeping.
B. Sprinkling water on dusty grounds.
C. Fixing chimneys on the kitchen.
D. Fixing sewage pipes that are leaking.

3. Grade 6 learners performed an experiment as shown below.
ransparent

polythene bag

From the experiment, the learners concluded that; A.
leaves help in photosynthesis.
B. leaves help in transpiration.
C. leaves help in respiration.
D. leaves help in transportation of minerals.
4. Kamwana was asked to name the blood component that transports dissolved components
around the body. Which answer was he likely to give?
A. white blood cells
B. plasma
C. platelets
D. red blood cells

Mwanzia downloaded the following picture and displayed it during a science and technology
lesson. Use it to answer question 5-7,
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5. Blood is pumped to all parts of the body organs by the contraction of the part labeled

0w
o —

D. K

6. Deoxygenated blood is received into the heart through the part labeled

OO p
OO A

7. Bloodi

7]
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TO X Q

pumped through all the parts of the body through the part labeled;

8. Grade 4 learners discovered that an egg sinks in fresh water. The same egg floated on
salty water as shown below.

L

A

Which factor tha-t affects ﬂo-atiné and s-inking were they investigating?

A. material
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B. shape
C. density
D. weight
9. Grade 6 learners from a certain academy were asked to mention what they had learnt
about snails and slugs. They gave their answers as shown below. Who gave the wrong
answer?
A. They have a wet skin and no bones.
B. They have a pair of antennae.
C. Those that live on land breathe through lungs.
D. Their bodies are not segmented.
10. Which of the following statements is true?
A. Blood group A can receive blood from group O and B.
B. Blood group B can receive blood from group A and B.
C. Blood group AB can receive blood from any of the groups.
D. Blood group O can receive blood from group A, B and AB.
11. The diagram below shows a

A. spreadsheet
B. power point
C. word processor
D. graphics software
12. Which of the following is not part of deciduous teeth?
A. premolars
B. molars
C. canines
D. incisors
13. Kimani observed the following phase of the moon in the sky.
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What is the name given to the phase of the moon?
A. Waxing gibbous moon
B. Waxing crescent moon
C. Waning crescent moon
D. Waning gibbous moon
14. Tunu put water in a basin and kept it outside in the sun. After an hour, the water was very
warm. She used it for bathing. How did the heat from the sun reach the water in the
basin?
A. By radiation
B. By convection
C. By conduction
D. By hydrolysis
15. Digestion of proteins takes place in the
A. mouth
B. duodenum
C. stomach
D. colon

AGRICULTURE

16. Mwahangila noticed that seedlings on his nursery bed were congested. Which practice
would you advise him to carry out?
A. pruning
B. thinning
C. shading
D. weeding
17. When preparing a vegetable nursery bed, grade 5 learners placed some mulch after
planting the seeds. Why do you think they did so?
A. To reduce water loss from the soil, to keep the seeds and the soil from being
eroded.
B. To reduce water loss from the soil, to keep the seedlings from drying.
C. To increase the fertility of the soil, to prevent soil erosion.
D. To increase the rate of growth of the seeds, to keep the seedlings from drying.
18. Re-using plastic containers for innovative gardening helps in; A. conserving water.
B. conserving the environment.
C. increasing water sources.
D. increasing crop yields.
19. Which of the following practices enables the seedling to grow straight in the nursery? A.
Removing mulches.
B. Reducing the number of watering times.
C. Removing the shade.
D. Uprooting unwanted plants.
20. The following are indigenous root crops except;
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21

22.

23.

24.

25.

26.

27.

28.

A. Irish potatoes
B. Cassava

C. Arrowroots
D. Yams

. Grade 5 learners from Little Angels Academy made a sack garden during an Agriculture

lesson. They were guided by their teacher to arrange some stones in the middle of the
sack. Why were the stones put in the middle of the sack? A. To enable water to drain
from the sack.

B. To allow water to flow to the lower level of the sack.

C. To make the sack to be very firm.

D. For the sack not to grow old easily.
Which of the following statements is not true about innovative gardening? A. It can be
practiced both horizontally and vertically.

B. Itrequires large farms for it to be effective.

C. It enables families to have food at all times.

D. It can be done at home.
Which of the following domestic animals have the same use?

A. donkey and cow

B. sheep and cat

C. dog and camel

D. camel and horse
Fixing gutters on the roof of houses can help in controlling
erosion.

A. sheet

B. rill

C. splash

D. gulley
Training climbing fruit plants involves;

A. allowing them to grow in a particular direction.

B. allowing them to grow in a particular speed.

C. allowing them to grow at a specific time.

D. allowing them to grow on a selected garden.
Which of the following statements is true about the soil with particles of medium size?
A. It retains the highest amount of water.

B. It retains the least amount of water.

C. Most crops can be grown on it.

D. It supports farming of rice.
The practice of planting crops to cover soil so that little water evaporates is called

A. intercropping

B. covercropping C. mulching

D. shading.

The following are ways of conserving water in farming. Which one is not?
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using sunken beds
mulching
shading
. practicing irrigation
29. What is the meaning of organic gardening?
A. growing crops without use of soil
B. growing crops without use agro-chemicals
C. growing crops using vertical or horizontal containers
D. growing crops that do not have strong stems
30. Amina has a bull that she bought after selling surplus maize from her farm. The bull
cannot be used; A. as a pet.
B. to plough on the farm.
C. to provide meat.
D. as asource of income.

SO p

HOME SCIENCE

31. Grade 6 learners were asked to name a method that would be used to preserve meat only
for a short period. Which of the following answers were they likely to mention?
A. Sun drying
B. Smoking
C. Salting
D. Refrigeration
32. Which of the following houses is common in cities?
A. Bungalows
B. Flats
C. Maisonette
D. Storeyed house
33. Halima went to buy food from a general grocery. Which of the following should she
consider first?
A. The type of material the packaging is made of.
B. The weight of the item that has been packaged.
C. The price of the item that has been packaged.
D. The date of expiry written on the package.
34. Grade 4 learners were asked to name the fuels that can only be used to cook and provide
light. It is likely that the fuels are:
A. Charcoal and firewood
B. Electricity and firewood
C. Paraffin and gas
D. Gas and charcoal
35. At lunch time, Oxanna ate Ugali, sukumawiki and an orange. What else should she eat to
make her diet balanced?
A. Anegg
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B. Aripe banana
C. A cooked banana
D. Watermelon
36. Identify the type of house that is described below. A. It is oblong in shape.
B. It uses poles, sticks, grass leaves which are smeared with a plaster of cow dung
and mud on both walls and roof.
C. It has small openings for ventilation.
A. Kikuyu hut
B. Manyatta hut
C. Borana hut
D. Luo hut
37. Which of the following is an advantage of charcoal jiko over a gas cooker?

It can be used anywhere.

It is a bit cheap.

It can be used in doors and outdoors.
It cooks faster.

COowp

38. Awino was asked by her mother to prepare food for her sick father. Which of the
following is the main factor to consider as she goes to buy the food?

Fuel needed for cooking.

Dietary needs.

Availability of the food.

Time to be used to prepare the food.

SO wp

39. Which of the following types of food cannot be stewed?
Beans

Spinach

Green bananas

Poultry

SCOowp

40. When we eat foods rich in calcium like milk and yoghurt, we are not likely to suffer
from;

A. goiter
B. scurvy
C. anaemia
D. rickets

PHYSICALAND HEALTH EDUCATION

41. A good pass in handball should be
A. slow
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42.

43.

44,

45.

46.

47.

48.

49.

B. accurate
C. very low
D. very high
Which of the following is not a part of the javelin spear?
A. Metal tip
B. Cord grip
C. Javelin rack
D. Shaft
The Warrior team have a match in the afternoon. They have to practice in the morning.
Which one of the following is a cool down activity that they can perform?
A. Slow dance
B. Rabbit jumps C. Squat jumps
D. Frog jumps.

Which of the following is not part of the cardiorespiratory system?

A. the lungs

B. the liver

C. the heart

D. blood vessels
Which of the following is a way of taking care of a public sports facility? A. Cutting
trees around the facility to ensure that it is clear.

B. Drawing graffiti on the facility to make it beautiful.

C. Carrying out tree planting exercise regularly.

D. Only litter the place or use dust bins when necessary.
The following are defensive skills in Kabaddi. Which one is not?

A. Ankle hold

B. Block tackle

C. Wrist hold

D. Raiding
Which of the following techniques is also known as 'torse'?

A. Drop finish

B. Shoulder shrug finish

C. Bunch start

D. Elongated start
Malkia performed a rope skipping skill where she would jump over the rope and land
with toes and knees turned inward and heels apart; then she jumps over the rope again
and lands with toes and knees turned outward and heels apart while staying on the balls
of the feet. The skill she performed is known as; A. the wounded duck.

B. the swing kick.

C. double bounce.

D. one foot bounce.
The following are steps used in releasing a javelin.
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i.  Throw in a straight line at the top.
il.  Withdraw the javelin. iii. Release the javelin from the
fingers.
iv.  Stand facing forward with body turned
Which of the following is the correct order of performing the release?
A. (iv), (1), (i1), (iii)
B. (i), (1), (iv), (iii)
C. (i), (iv), (1), (i1)
D. (iv), (i), (ii1), (i)

The state of the body having enough water is known as:-

A. Watery

B. Clean

C. Dehydration
D. Hydration

50. In handball, the player who is the creative force in attack and disruption to opponent
when defending is referred to as

right or left back

centre

circle runner

left or right winger

SO wp
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